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Political Science
Paper 1II

Tt e
PEEIECIl |

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

GO : I YIAARhd THY 9IS (100) sguEE U9 foel 3fed. Toish Teen g (2)
U1 3Ted. @d U HiEa.
1. One of the key features of | 1. fIhrEHS YIMHAE Tk Hed Ay

development administration is B/ -
that it :

. A) s FEfeR W)
(A) Emphasizes on regulatory work (A) ¢

(B) Emphasizes on rule-bound (B) TSGR
conduct (C) HEHIOMER W
(C) Emphasizes on centralization (D) TEUTTILIER 9K
(D) Emphas1zes. on parjclc'lpatlo.n O HE TG e T
2. The New Public Administration TER FQ.

advocated :

(A) FIEITH M gfeehlA

(B) wrdemar Ao shiesher

(A) Management science approach

(B) Efficiency and economy

(C) Social relevance Dbased (C) WIS FEAden e gt
approach (D) Wﬁw
(D) Value neutrality o
3. fg fafiges ufdew enfr we AfGR
3. The Minno\fvbrook Persp.ective and _q.l. .............................. E:ﬂ' Ba_q.rs_ﬁ. g’a’.ﬁaﬁ.
Frank Marini are associated with T
the emergence of : )
(A) New Public Administration (A) TIAFIE
(B) Development Administration (B) foehraresh wemed
(C) Scientific Management (C) IS Faeemd=
(D) Rational Choice Theory (D) fogert frae fag

3 [P.T.O.



Which one of the following subfields

emphasized on values and ethics ?

(A) Comparative Public Adminis-
tration

(B) New Public Management

(C) New Public Administration

(D) Rational Choice Theory

Which one of the following actions

is indicative of ‘integral’ dimension

in the working of an organization ?

(A) Filing papers

(B) Planning

(C) Staffing

(D) Coordinating

Give the correct answer by using the

correct code given below :

Assertion (A) :

Some scholars have ridiculed

and rejected the principles of

administration as “myths” and

“proverbs”.

Reason (R) :

For almost every principle, one can

find an equally plausible and

acceptable contradictory principles.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JUN - 15219/I11—D

WCATeTIeh! IO SYRTEET 9K e ST

AfqehdaR o ?

(A) JCHE  Slh IR

(B) TEciIheATEATIA

(C) SRR

(D) faa=t free fasid

TTATAT ST HIOA FAT FEA=AT

FHTRSTA A Yo o w2

(A) HFEYA A

(B) fra~m

(C) HHAR AHUH

D) TH<=F

WTeliel Ghdishrel aTR HEd arg ST

ferar -

fagm A)

HTE! TR TR qxelel Sashel

aTfoT wgult ST HalEd =t haft YT

& I ATRRE.

%RuT (R) :

SAcSIaes Jedeh aRaTdIa! STAeHTell daed

fagaa i 9 WhNe TEIoRIE a

3@

Gehdiah :

(A) (A) 3TftT (R) T T2t TaI90] sRIeX
3T (R) ® (A) & RIS TSR
EI

(B) (A) 7T (R) & TI901 SeR 3T
T (R) § (A) & AT TR
BIG]

(C) (A) IR 38 M0 (R) = 3T

(D) (A) IF TR 3O (R) TR 3TE




Accountability as one of the three
cardinal principles of Public
Administration is ensured in New

Public Management by :

(A) Performing agency’s goods
(B) Following procedures in totality
(C) Not obeying orders of superiors

(D) Preventing misuse of public

money

Max Weber identified it as essential

feature of modern bureaucracy :
(A) Hierarchy

(B) Flexibility of rules

(C) Patronage

(D) Personal charisma

The principle that “a subordinate
employee should receive orders from

one superior only” is known as :
(A) Span of Control

(B) Unity of Command

(C) Hierarchy

(D) Delegation

JUN - 15219/I1—D

ST § AR ULIEATAT T HeeT=

Tl Th qwd TGA et =t

(A) sTfentom=i 3fEweqd

(B) srEiUSde qUd: 3facied ol
(C) dfts3rea &= A1 leeul

(D) IS Teren gEUEN e

MR IRIE STaYds: Jfyrsd 38 319
gfqaeA el

(A) TS

(B) faurdial afeehan

(C) stz

(D) AfRTTd HRIAT

" ShfTe3 HHEAN TR ARSI ST

[P.T.O.



10. Match List I (Theorists) with List IT

(Ideas, Arguments) and select the
correct answer from the codes given

below :
List I (Theorists)
(@) Vincent Ostrom
(b) David Easton
(¢) F.W. Riggs
(d) Mary Parker Follett
List II (Ideas, Arguments)

(1) Advanced the idea of

‘constructive conflict’
(2) Presented ‘defracted model’
(3) Critiqued bureaucratic model

(4) Conceived of public policy as an

output of the political system
Codes :
(@ ®) @ (@
A @ @ O3 @
B B3 @ @ @
¢ @O 6 @ @
M 2 @ 6 @

JUN - 15219/I11—D

10. =<t I (fagiaer) anfor et I (Sehed T,

FfFqa) 1= A=A wdrd
Tehdioh= TR hed JA I TN ¢

et 1 (Fagiaen)
(@) Hide irem
(b) <fee &=
(0 ThE=Y fog
(d) A8 R HicE
et 11 (HeheU T, Jferare)

(1) fours Foui= FeheaTa1 JEhR

el

N0

(2) forfad gfqamm=n w@reht Se

(8) Tafercger TRl SfaAMT |t

sHedl

(4) GrESeh HROT T TSeha SHIEI=
foou=it ome, oT°N Hed et

Hehdih :

(@ ®) (@ @
A @ @ O3 @
B B3 @ @ @
¢ @O 6 @ @
M 2 @ 6 @




11.

12.

13.

Which one of the following is not
a characteristic of new local

governance ?

(A)

Organised on formal and legal

pattern

(B)

Based on the post-bureaucratic

notion of organisation
(C) Operate through open networks

(D) Participation of stakeholders in

decision-making process

Functions discharged by the

Panchayat Raj Institutions fall

under :

(A) the 9th schedule
(B) the 10th schedule
(C) the 11th schedule
(D) the 12th schedule

Article 243 I of the Indian

Constitution provides for the

constitution of :

(A) Panchayat Raj Institutions
(B) Municipalities

(C) State Finance Commission

(D) State Election Commission

11.

12.

13.

JUN - 15219/I1—D

T TR IMEeha< WeileTdeh] ShIoTd

T afyrees A ?

(A) AT=fes ST HERSMR TH=IER
S IRIIST

(B) HHETH SU-AThTEl ThoUdal

afeia

(C) GeaT AeaagR I

(D) fofa fsradial ArTemeRi=n qevm
TG S GEATSAT RIHEIE]/HTA T
(A) 9= Ui

(B) 10= afifyreera

(C) 11= ufifyreera

(D) 12= 9IS

YA ToTeeT=a1 hodd 243 1 ALY
FHIMAT T WG 3T

(A) T9™G TS HE
(B) TRHTfeTeRT

(C) g fam smim
(D) T e A&

[P.T.O.



14.

15.

16.

Major challenges faced by urban
local governance bodies in India
are :

() Financial crunch

(b) Low
participation in local bodies

level of citizens

(c) Privatization of public services
Codes :

(A) (a) and (b)

(B) (b) and (c)

(C) (a), (b) and (c)

(D) (a) and (b)

How many states in India have

constituted the Lokayukta

institutions ?

(A) 15

(B) 20

(C) 17

D) 19

Lokpal consists of :

(A) 9 members including chair-
person

(B) 8 members including chair-
person

(C) 10 members excluding chair-
person

(D) 7 members excluding chair-
person

15.

16.

JUN - 15219/I11—D

AT el AN STl
& 3egH 3.
(@) fo=iE =orEo

(b) TR HEATAIA ANTRERT=T 3Ty
Ul

(c) TehEar™ TSR
Hehdich

(A) (a) o (B)

(B) (b) 3 (c)

(©) (a), (b) A ()
D) (a) 0T (b)

AT fehet TS kTR a1 TEe=

TOAT hefl 38 ?
(A) 15
(B) 20
©) 17
(D) 19

Brdl.

(A) FremaEied 9% HEE

(B) srexaHied 376 Hew=
(C) sreaenfyremd <@ Hee=
(D) TEAAEE 9[ qewr=




17.

18.

Which among the following is not
the feature of good governance ?

(A) Equitable and inclusive

(B) Non-responsive and non-

consensus
(C) Participatory and accountable
(D) Transparent

Match List I with List II and select
the correct answer from the codes
given below :

List I
(@) Good Governance
(b) Citizen Charter
(¢) Ombudsman
(d) RTE
List II
(1) People’s defender
(2) Equitable and inclusive
(3) Empowerment of citizens
(4) Article 21A
Codes :
(@ &) @ (@
Aa @ @ @O @
B 3 @ @ @
< 1 @ 3 @
D @ @O @ O3

17.

18.

JUN - 15219/I1—D

HH A Teerdeh! ShIv Teh Af¥TSe
TE 2

(A) FH=IE o SHTeee

(B) 31yfqareel o1 Tehamedr fofed
(C) FeWET 3o SeRerE

(D) WREEH

At I = At I 3 Sreen Segan sfon

SN LN ~
LAl Toed el Hehdishiqd AT 3T

aer

EICU |
(@) G-IRmhdl
(b) TAMRERTEN T

o

(c) STSHAT
(d) RTE
T 11
(1) 59 &
(2) HEE STfu HHETR

(8) FNIERTE HeATh L0l

(4) e 21A
Hehdieh :

(@ ®) © @
Aa 2 & @O @
B 3 @ @ @
< o @ B @
D @ @O @2 O

[P.T.O.



19.

20.

In which Article right to education
is incorporated ?

(A) Article 22

(B) Article 19(2)

(C) Article 21(A)

(D) Article 23

What are the features of MNREGA ?

(@) A person above the age of 14
years is entitled to apply for

work.

(b) Any applicant is entitled to
work within 15 days of his

application.

(¢c) It is limited to 100 days per

household per year.

(d) The applicant will be provided
if possible within radius of

5 km.
Codes :
(A)

(a), (b) and (d) are incorrect and

(¢) 1s correct

(B) (a) 1s incorrect and (b), (¢) and

(d) are correct

(C) (a) and (b) are correct and (c)

and (d) are incorrect

(D) (a), (b) and (d) are correct and

(¢) 1s incorrect

19.

20.

JUN - 15219/I11—D

Torerumr=n ereh [l HHIART eh[V[cH] shHId

Hell e ?
(A) e 22
(B) ®eH 19(2)
(C) =eH 21(A)
(D) e 23

TR (MNREGA) 3ferse =g
aed ?

(@)

IeT Toiadiel SHekil ShTHATEIST TSt
FOIE TSR 3R

HIVTATEN AR 3T heaT=A1
fearEmargA 15 feaam s fHesvam
THIR 3TTR.

®)

N d [ay o ¥
Jcdeh Shed AU 100 TSTHTgIAH

wH Head.
STSIERIY TERIdeR e fordt. S

M@ ¥ Qe Sea.

i

(A) (@), (b) T (d) =k 2Med (00
(c) TR 3T

(B) (a) Ik 318 3 (B), (c) 3 (d)
ENEIC

(C) (a) 30 (b) SRR 7 3V (c) T
(d) e 38

D) (a), (b) A (d) TR ATga (01
(c) Tk 38

(c)

(d)

10
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21. Which of the following statements | 91 wErficiesr Hvd HuM sReR @ ?
is not correct ?
. o . (A) TR AT BT TS Hi= HISTHTY

(A) Military capability is a tangible
element of National power. FLAl AT HEF  SE.

(B) The quality of leadership can (B) Jcar=A1 TUEHes Uar=al TRl
improve the power of a state. I BT T

(C) Demographic indicators are e e .
important for understanding (C) rhded™ T.eh TErEn [edr|
the power of a state. T FHS SIS SAE¥eh S

(D) Geography is an element of soft (D) et & 9= Tl WSk SR
power of a state.

, , 22. SIAERU Feala= 2015= URH
22. Which of the following statements o

is not correct about Paris agreement FINHAL Tty HIo - faem

on Climate Change 2015 ? TR TG ?

(A) It has determined uniform (A) IR 9 29 IS w5
target of emission reduction for - N

) LI TUE 3fEe i ot
all countries.

(B) It has asked countries to (B) W8N g QAT IS FHHi
determine their own emission FIOIE T 3fEse ST
reduction targets.

8 SRR 3.

(C) It relies on the principle of .
differential treatment of (C) TR ToehTHe o feheaiie] <
developed and underdeveloped 3OS hHT HLTITAT ATTTed! IEe
countries for emission targets. S TR,

(D) It has made a detailed time- - . -
table for emission reduction for (D) d
all countries. CRUE | e ke O g R

11 [P.T.O.



23.

24.

Which of the following is an
incentive behind the Look East

Policy of India ?
(A) Weapons purchases
(B) Quest for energy security

(C) To build relations to counter

China-Pak axis

(D) Dominate the Indian Ocean

Which of the following regional
trade groups have lowest percentage

of intra-regional trade ?

(A) SAFTA (South Asian Free

Trade Association)

(B) NAFTA (North Atlantic Free

Trade Association

(C) EU (European Union)

(D) ASEAN (Association of South-

East Asian Nations)

23.

24.

JUN - 15219/I11—D

TRATA qAITHHE SR 3We QU
UeH WeAcdhl hIo 3Tg 2

(A) IS B

(B) el & &8YIEn

(C) =A-uiferer ST&Tel 3T SUATES

oY RO

(D) & HRETRER S a0

Gk hIT WYk AR e
SATAYSIMNT SATYRME JHTOT Hoid hHT
AR ?

(A) arwT (Zfeor STfrmh ge SR

TEEAT)

(B) TR (W Ieciicsh o AR
)
(C) 3 (I wgre)

(D) A (AT AR o=

TEEAT)

12



25.

26.

Which of the following principles of
the WTO applies specifically to the

developing countries ?

(A) Special and differential
treatment

(B) Reciprocity and non-
discrimination

(C) Predictability through
transparency

(D) Equal treatment to locally

produced and foreign goods

Which of the following statements

is correct ?

(A) World system theory believes
that anarchic international
system is the root cause of

conflict.

(B) Structural realism believes that
human nature is the root cause

of conflict.

(C) Realist theory of International
Relations draws inspiration

from Hobbes’ thought

25.

26.

JUN - 15219/I1—D

SINTfeh SMUR FoeAd qeiadehl hIv

T fagioa: fawfaa Tse@dt s ?

(A) fage sufor oFredt aFTRR
(B) TRENAl M0 HEHET= AU

N

(C) IRSIIhdqd SIS FdeoaTsI]

(D) Tfeh ofoT WS SR FHH
ST

EATTUeh! iU fIgM sRieX e ?

(A) SiTTfaer sgaeen fagrarsar wd

SRS STAWLT HATLT § T

a3 .

(B) S{EATHe dRadRr=al Ad ATl

Q@YE T 6 EEE o 3T

(C) AW HIHT=AT qrEqdarg]
fagrar=t 9o gisa=ar faarid
fewa.

(D) Constructivism analyses the . ..
YRR (D) THER SR dEedE m
core and periphery in
International Relations. afor ofter I fasAsor .
13 [P.T.O.



27. Which of the following pairs is not

28.

matched correctly ?

(@)
(b)
(c)
(d)

@
(i1)
(iit)
(iv)
(A)
(B)
(®)
(D)

List I
Balance of power
Deterrence
Collective security
UN peace keeping
List II
Making alliances
Nuclear weapons
Isolating the aggressor
War with the aggressor
(a-1)
(b—ii)
(c—iit)

(d-iv)

Which of the following are forced

migrants ?

(A)

(B)

(®)
(D)

Mexicans crossing the border to
enter the US

Sri Lankan Tamils living in

camps in Tamil Nadu
Indian workers in Saudi Arabia

Pakistani workers in UAE

27.

28.

JUN - 15219/I11—D

TeAeTdsh! IV SISl e Jeoaa

et A ?
et 1

(@) 9T FHA

) e

(c) HHfeh geam

(d) FIF TS Saal &0 HiEH
et 11

(i) TETS O

(i) 3T

(iii) SHHARTAT Tehe TEY

(fv) 3THARRT Y HI

(A) (a-1)

(B) (b-1)
(C) (c-ii)
(D) (d-w)

@eieTieh! hIUd ileh T T

FIOR e ?

(A) i sTered sfeha Jum Afw

(B) dferedear forfariasd TRom
siicieh e

(C) ¥t sfsardia YRAE SR

(D) I SRS S qifeh&ar
hTHY

14
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29. A new model of public sector | 29. 1990 H&d ITAW TeTe! ‘ WESITeh &HT
management which emerged in I’ g A9 gfaAm™ I ARl
1990s is known also as : Bl S
(A) Managerialism (A) LT
(B) Market-based pUbliC adminis- (B) q|\g”{q,;;?| GIEN FIUESE

tration _
(C) ATHIETR ISR FUM HIHR
(C) Entrepreneurial government
(D) a8 9d 9a™
(D) All of the above - - .
30. Weletden! IV SISl sRIET Seaaie]
30. Which of the following pairs is not T 2
matched correctly ? .
w9 1
Column I .
(@) JwERT fagm
(@) Critical Theory
. (b) TTEATEIR
(b) Realism
(c) Smifaer e g
(¢) World System Theory
(d) Social Constructivism (d) WIS TR
Column II A I
() Regime, Institutions @) ’
(i1) Interests, Power @) Te |, Wl
(ziz) Core, Periphery (iz) 3, I
(iv) Norms, Values (i) whd,
(A) (a-1) (A) (a-1)
(B) ®-i0) (B) (b-iv)
(C) (c-uD) (C) (c-ui)
(D) (d-iv) (D) (d-v)
15 [P.T.O.



31.

32.

Which of the following is an element

of India’s ‘Look East’ Policy ?

(A) Nwuclear co-operation treaty

with ASEAN countries

(B) Co-operation with ASEAN
countries on South China Sea

disputes

(C) Promoting Democracy in

ASEAN countries

(D)

Free Trade Agreement with

ASEAN countries

Among the following regional
groups, which has signed a Free

Trade Agreement with India ?

(A)

European Union

(B)

Association of South-East Asian

Nations

(C) Shanghai Co-operation

Organisation

(D) Gulf Co-operation Council

31.

32.

JUN - 15219/11—D
TEAeTden! I Fedh RAT Jaii e

TS R0 Th oS 38 7

(A) NfEIE SN Afvaess ek

(B) i el <feror == wsrde

EEIMER:EER]

(C) &AM <IMA@ ARITRrEl IR

(D) A QMM Fedar SATIR=]

Y

EATCTUehT ShivTea] &5 e WRATERIs

Gl AIRET FAX hell A8 ?

(A) FUIT HErEH

(B) MM (STI-3TiyrEE 9=
TEEAT)

(C) ST Hgahtd e

(D) % gk TES

16



33.

34.

Which of the following is not

an element of India-Russia

co-operation ?

(A)

Joint ventures in weapons

production

(B) Joint ventures in exploration

of natural gas

©)

Joint ventures in sea-bed

exploration

(D)

Nuclear partnership

Which of the following statements

is true ?

(A) Indus Water Treaty created the

Permanent Indus Commission.

(B) Indus Water Treaty gave the
control of three ‘eastern’ rivers

(Beas, Ravi, Sutlej) to Pakistan.

(C) Indus Water Treaty appointed
an international mediator for
resolving water disputes

between India and Pakistan.

(D) Indus Water Treaty appointed
a third party arbitrator to
resolve water disputes between

India and Pakistan.

33.

34.

JUN - 15219/I1—D

ST TeTdsh! ShIOTAT S&eh M-

Hghrtal TSk ATE 7

(A) v = g 3ThA
(B) #afifer am=n shems Wga SUHH
(C) 9F o=l T §ged SUshA

(D) 3TfUersh YrfeRT

EATeTUeh! IV fIgM sRieR 3 ?

(A) T9Y dvfiEey FRM HEEEE
&Y 3T (Indus Commission)
frafor e

(B) Ty uifered XA qaweia 7
TJai=a (faermw, u«sl, Faaw)
qrfehearen fea.

(C) fag uroftared &HUUA  ¥IRA-
fehedTdel Stetfoerar R
FOIMES] HEAEY AHe

(D) fae wroftared &UWR  IRA-

EN BN G IS GIEEIHERRELETY

FLOMES! e THA
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35.

36.

317.

Which one of the following is not
a principle of India’s Nuclear

Doctrine ?

(A)

Non-proliferation of nuclear

technology
(B)
(©)

Minimum Credible Deterrence

No First use of Nuclear

Weapons

(D) No use of nuclear weapons

against non-nuclear states

In which year did India host and
chair the summit of the non-aligned

movement ?
(A) 1983
(B) 1979
(C) 1976
(D) 1986

Which of the following terrorist
groups is not banned by Government
of India ?

(A) Abu Sayyaf Group
(B) Babbar Khalsa International

(C) Communist Party of India
(Maoist)

(D) Hizb-ul-Mujahideen

35.

36.

317.

JUN - 15219/I11—D

WA hIUd dwd WRAT=AT AT{Uereh
effe = I & ?

(A) ST TR ideg
(B) formm fagamemg wied

(C) STUTE= Joq 99 S0l

(D) ATIEALNY FIATIT 2 yNfasg

UTEET AR T )

OIAr HIUIT asif mefargar

(STfeTaaraTs) Fesdesrea Rer aite=
ISTAAGG I STAYIE Yot ?

(A) 1983
(B) 1979
(C) 1976

(D) 1986

T TcTdeh! hIvTeaT SeXIaaTe! TR TR

THRA gt ool Ater 2

(A) 379 TETE T
(B) ¥e WOl 3

(C) WRAE SR g8 (HTemR!)
(D) feo-3a-YenfesA
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38.

39.

40.

‘Chakmas’ are the migrants in India
who have come from :

(A) Bangladesh
(B) Myanmar
(C) Bhutan
(D) Nepal

Who the
‘founding fathers’ of the non-aligned

are regarded as

movement ?

(A) Nehru, Nasser, Sukarno

(B) Nehru, Tito, Sukarno

(C) Nehru, Nasser, Tito

(D) Nehru, Sukarno, Ho Chi Minh
Assertion (A) :

India-Vietnam friendship dates back
to Cold War period.

Reason (R) :

Vietnam has supported India’s bid
for UN Security Council permanent
membership.

Codes :
(A) (A) is true, (R) is not true
(B) (A) is not true, (R) is true

(C) Both (A) and (R) are true, but
(R) is not a cause of (A)

(D) Both (A) and (R) are true and
(R) is a cause of (A)

38.

39.

40.

JUN - 15219/I1—D

‘T’ TR WA

1 QAT AT
(A) STerRY
(B) =R
(C) 4

(D) -uTes

TefRUY Fosaesd (Sfaadas! waes)

e SIoTel el Sd ?
(A) &%, TR, FHHI

(B) 7e%, fd, gmi

(C) we®, &,

(D) 7&&, goril, & = fa=
faam (A) -

TR Ta™ H3i1 SfagsT=an e
T ..

<uT (R)

g TSl GRETT Rl i
GUESATHIS! YR hid STl T
feguaaTa=n ufsen TR,

U
(A) (A) SR 3R, (R) I 3R
(B) (A) I 318, (R) SR R

(C) (A) 37fur (R) Sel sRieR 3TTed, 90T
(R) ® (A) = &N &

D) (A) 3TfT (R) Sl SRS 3Ted, 3101
(R) ® (A) ¥ &N 3R
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41.

42.

43.

Which of the following description

does not fit the concept of

‘Multiculturalism’ ?

(A) Salad Bowl

(B) Cultural Mosaic

(C) Melting Pot

(D) Homogeneous Society

Who among the following argued

that ‘Man is working species’ ?
(A) Babeuf

(B) Karl Marx

(C) Hegel

(D) Gramsci

Who among the following argued

that ‘Power is repressive’ ?
(A) Gramsci

(B) Karl Marx

(C) Hegel

(D) Foucault

JUN - 15219/I11—D

41. TICHCTUShT HIO SO TgEhdrams

Hheq e S[ed A& ?
(A) das 9

-~

(B) shoeldd WIS

(C) HfeeT bl

(D) THTEY U

42. TR IV HTST  hTHRL TSI’

43.

31 Ffokarg Area™d ?
(A) s=q

(B) et R

(C) &

(D) T

ETCIETUeh! hivf ‘T & SRR T8’
3T YfRag Ared™ ?

(A) vt

(B) whIed R

(©) &

(D) e
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44. What is the source of Marx’s famous | 44, ‘syaraefa=n sfaem, gareT=a ovf Temt=T
statement that “The History of all sherd oM W HEdEn fauEEn @
hitherto existing societies is the : a2
history of class struggle” ? ’

(A) The Civil War in France (A) T fafses ar &7 W

(B) On the Jewish Question (B) 39 < Fﬂg'.‘{[ FATTH

(C) Manifesto of Communist Party (C) HFH 3% FR 5

(D) Contribution to a Critique of D) =t - FF ¥
Political Economy (D) =TI > o <h AT

45. Which variant of liberalism espouses
sympathetic consideration of | 45. Qt@'{ﬁ TFh 30T ATUH BITH -
cultural differences, group rights qg&@ﬂfﬁﬂcﬂc’i Hegie T '-Lvﬁiﬂl
and majority-minority relations as . . -
its core values ? H‘élj“j\lé(‘%iqu HIdAl enlYIdl SQIKHAAIKEI

ThX ?
(A) Multiculturalism '
(B) Classical liberalism (A) SEHEFAR
(C) Communitarianism (B) fYed IqRHAAR
(D) Libertarianism (C) THSEE

46. Give the correct answer to the (D) SEHTER

statement below :
Post-modernist typically argued 46. Trefel faerr awa s
that ------ W—WW .qﬁ ............
(A) ‘Universalist’ narratives which N N -
attempt to explain the world (A) ST FIs T F
are invariably false. TEHIe ST STHAT.
(B) The world is socially (B) < ¢ fafay yer Arfsergsen
constructed in a variety of Tl 3T
ways. ) )
(C) Differences of viewpoints should © 3 i a-[z—:[w . R
be celebrated not deplored ae, foeRproar=t .
(D) All of the above (D) = T
21 [P.T.O.



47. Which of the following pairs is

48.

correct ?

(A) Conservatism — Anti-social
change

(B) Conservatism — Anti-authority

(C) Conservatism — Anti-organic
society

(D) Conservatism — Anti-tradition

Match List I with List II and select
the correct answer from the codes
given below :

(a)
®)
(c)
(d)

(1)
(2)

3)
(4)

List I
T.H. Marshall
Thomas Paine
James Madison
Samuel Smiles
List II
The Rights of Man

Advocated the concept of
enterprise, hardwork and self-
reliance

Citizenship and social class

Advanced
republicanism

constitutional

Codes :

(A)
(B)
(®)
(D)

(c)
3)
(1)
4)
3)

(d)
(2)
3)
(1)
(1)

(@)
1)
4)
3)
2)

®)
(4)
(2)
(1)
4)

JUN - 15219/I11—D

47. WAt IO SISt aaR S[edell
;e ?

(A) feafqae — @IS sga foly
(B) feafqeare — sifeprerg faiy
(C) feufqae — Sifae wwr folig
(D) fearfqerg — W forliy

St I & At 11 3 Jesan oo awy
S wIE (Feha-gat) AEd feer .

48.

(@)
®)
()
(d)

(1)
(2)

3)
(4)

et 1
A= A
AfFg U
ST HEA
e ™
Tt 11
T WM I A
SCNTYTAT, TR qaR ST

TIHERAd A GeheaTdl IR

el
fediersii efe 9re s

Ad HAsSiiAden  Heldis

He (W—W) :

A D
(B) 4)
© 3
D) 2)

(d)
(2)
3)
(1)
(1)

(@ ()
(4)
(2)
(1)

4)

()
(3)
(1)
(4)
(3)
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49. Give the correct answer by using the

codes given below :
Assertion (A) :

The economic theory of the
‘Philosophical Radicals’ was directed
from the start, towards the practical
purpose of freeing commerce from

the restrictions.
Reason (R) :

The general outline of utilitarian
thinking was announced in
Bentham’s earliest work, ‘The

Fragment of Government’.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JUN - 15219/I1—D

49. Hehdieh dEA A IW fo@r

faam™ (A)

frargiithera deshed’ a1 e aAfeie

T eI SR ek 0=

HeRIe: Sfese™ IRa wen 2.

0T (R)

SUFeRIATaTG e faamr=t Aieult sem=

GeaTdreal hleddiel ‘g HIH=Y HAh

TTegHe ' a1 GRIehTd WiqaTed shefl ail.
i
(A) < (A) 30T (R) SRR 31, 31f01

(R) ® (A) o o) TqLIHLT

(B) &l (A) oo (R) SRIeR 37Rd, W
(R) ® (A) o seR TR0 ATEL

(C) (A) =R 38, W (R) I 3T

(D) (A) I% 1%, g (R) e 3T
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50. Match List I with List IT and select 50. T 1€ 4t 11 i Sl o7 G
the correct answer from the codes

, bel A MR FEA I IR A
given below :

List I (Ideologies) Tl 1 (feremyoTedt)
(a) Liberalism (@) ZQRHAAAS
(b) Conservatism b) EFaE
(¢) Socialism
(c) THISAR
(d) Ecologism
(d) ufgftear

List II (Core Values)
Tt I (eI 5e3)

(1) Holism, anti-anthropocentrism

(2) Community, equality, labourism, (1) wyofamEr, A7senisan fory

cooperation

(2) WY, HHA, #HAR, HghX

(3) Tradition, organic society,

_ (8) Wu, Sfoes TN, TS, ATCHT
hierarchy, property

(4) Freedom, justice, reason, (4) T, =, fodqe, wfes
toleration daa-geh
Codes :

(@ ) © @@
(@ ®) @ @

A QD @ @ @
A QD @ @ @
B) @) @ @ @ B) 3 @ @ @

< @ 1O B @ e @ @O B @
D @ & @ @ D @ & @ @
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51.

52.

53.

54.

Who is the author of the book ‘Prison
Notebooks’ ?

(A) Franz Fanon
(B) Karl Marx

(C) Antonio Gramsci
(D) V.I. Lenin

Who among the following wrote the
book ‘Wretched of the Earth’ ?

(A) Karl Marx

(B) Lenin

(C) Franz Fanon
(D) Hannah Arendt

The negative theory of liberty was
advocated by :

(A) John Stuart Mill

(B) T.H. Green

(C) Isaih Berlin

(D) Karl Popper

Which one of the following thinkers

stressed the productive dimension of

power ?

(A) Foucault
(B) Mill

(C) Marx
(D) Lasswell

51.

52.

53.

54.

JUN - 15219/11—D
‘e reged’ A1 TAT TESE HIU ?
(A) WE
(B) el R
(C) staifwsht umeft
(D) =cHR 3fe= of
TreAieden! ol ‘TE o fE g ol ¥
q&ieh fafeet 2
(A) w1l HR
(B) wfH
(C) gl
(D) & 3Re

THNITR T fagm
I AS.

(A) S wai fa

(B) ST dH

(C) ¥4 el

(D) e 9w

ETeleldeh] hIvredl faaRade  g=a

IARH qRATER. WX fen ?
(A) T

(B) foa

(C) werd

(D) @

25

[P.T.O.



55.

56.

57.

Who among the following used the
expression ‘forced to be free’ in
connection with the notion of liberty

of the individual ?
(A) Rousseau

(B) Locke

(C) Green

(D) Hobhouse

Who among the following said that
democracy can become ‘tyranny of

the majority’ ?

(A) J. Rousseau
(B) De Tocqueville
(C) J.S. Mill

(D) James Madison

Who argued that ‘life, liberty and
property’ are inalienable rights of

men ?

(A) Aristotle
(B) Rousseau
(C) Hobbes

(D) Locke

55.

56.

57.

JUN - 15219/I11—D

BITeATAdHT HIN  Ffeaeard sar=ar
TeheU =1 Hewld ‘ Sasade Seres’
B I TAN el ?

(A) Eovs|

(B) @i®

(C) W=

(D) Tewrey
GreAleds! ST S " R HI

ARIME & TgHEARE THAVME B

NET

(A) . =4
(B) €1 Ifwfwa
(C) S.u@. foat
(D) ¥ HErEH

S, @A ot §uit § fetegd A
Bl AUR HHATE §Fh 3led, 3T I
WA ?

(A) A=fed
(B) &

(C) @lsst

(D) <t
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58.

59.

60.

The term Legitimation crisis is most

associated with :
(A) Gramsci

(B) Foucault
(C) Habermas
(D) Lenin

From whom does Marx borrow but
fundamentally modify his dialectic

method ?

(A) Kant

(B) Hegel

(C) Adam Smith

(D) Ludewig Feuerbach

Who described freedom as the

‘silence of the laws’ ?
(A) Isaiah Berlin
(B) Thomas Hobbes
(C) Milton Friedman

(D) J.S. Mill

58.

59.

60.

JUN - 15219/11—-D
‘srfermraEn TEwET @ WS ged:
Fomeht frifeq eme ?

(A) TTHIT
(B) %!
(C) BeRH™

(D) wfH

ISR SRIVITSh e GgTcHeh TGl TollehIed

T qAYd JRa et 2
(A) =1e
(B) &

(C) ofew f&y

(D) i HiEEE

IV WA G e 91 e
el AR ?

(A) 3EE A

(B) omE =l

(C) THeea fhewq

(D) S.ug. fu=
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61.

62.

63.

The historic ‘Quit India’ resolution

was passed under Mahatma

Gandhi’s leadership at Gowalia

Tank median in the city of :
(A) Kolkata
(B) Chennai
(C) Lucknow
(D) Mumbai

Who was the revolutionary Marxist
leader with whom M.N. Roy had
a prolonged political debate in
1919-1920 ?

(A) Karl Marx
(B) V.I. Lenin
(C) Joseph Stalin
(D) Mao Tse Tung

Who

personalities

among the following

established the

organisation ‘Abhinav Bharat’ ?
(A) B.G. Tilak

(B) M.K. Gandhi

(C) Rabindranath Tagore

(D) V.D. Savarkar

61.

62.

63.

JUN - 15219/II—D
TR e Aganee et Jh
A Ufeerfaes ¢ R Bt 30a hiore
JEUd HHA Sel 2
(A) hicTehRTdl
(B) =g
(C) <&l
(D) 98
TFAGATY T3 I+ 1919-1920 T HI0T

AT [N SN faY o
snlldenien HierddQl claRIs {[sienl< =]

T
(A) =T A

~

(B) =AfqHR sfera a1fe

(C) SE® Eferd

(D) sl & G
RO TAIA <hell ?
(A) wes TmeR feoseh
(B) Hish. Tieht

(C) egrer 2mR

(D) fa.e1. |
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64. Which of the following were the

65.

66.

67.

tenents of Jayprakash Narayan’s
concept of Communitarian
Democracy ?

(@)
)
(c)
(d)

Choose the answer from the
following codes :

(A) (), (o), (d)
(B) (@), (®), (0
(©) (@), (o), (d)
D) (@), (), (d)

Which one of the following is not
separatist movement ?

(A) JKLF
(B) ULFA
(C) PLA

(D) Naxalism

Who among the following
launched Kalaram Mandir Entry
Satyagraha ?

(A) Mahatma Gandhi
(B) Vinoba Bhave

(C) Dr. B.R. Ambedkar
(D) J.P. Narayan

Which one of the following is the
characteristic of post-behaviourism ?

(A) Quantification
(B) Relevance
(C) Value free

(D) Pure science

Decentralised political economy
Competitiveness
Deliberate process of devolution

Harmonization of interest

64.

65.

66.

67.

JUN -15219/11—D
WA IO STAYRTIT TRE0T <A1

‘TSR] Al A Heheq Ul

Bd ?

(@) Tofsa Uspia stefeasen

(b) TicHRAl

(c) H&qH T ECH Wik

(d) TeawsEr=n e

arett feoiean wenyd W feer -
(A) (b), (e), (d)

(B) (a), ), (c)

(C) (a), (), (d)

(D) (a), (b), (d)

WA IV BIRATIE] Fsdes
ATE ?

(A) I.%.TA.TH

(B) eI

(C) d.uaT.

(D) A&erdarg

WCATCTh! UM HTERH HiT T T
gE hal ?

(A) were e

(B) foren v@

(C) . Wi.U. 3Tt
(D) STAYRTST AR

WATIUeh! ShIvTd SqaTe e iy
e ?

(A) aRHH
(B) 39geHddn
(C) HeafRusgal
(D) fags wre
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68.

69.

70.

With which of the following
organizations Periyar E.V.
Ramsamy was associated ?

(@) Self-Respect Movement
(b) dJustice Party

(c)
(d)

Choose your answer from the
following codes :

Codes :

(A) (@), (c), (d)

(B) ), (c), (d)

(C) (@), (B), (c)

(D) (@), (b), (d)

Agganna Sutta is in which text ?
(A) Digha Nikaya

(B) Tripitika

(C) Vinaya Pitaka

(D) Dhammapada

In Buddhist literature what is
‘Sutta’ ?

(A) Dialogue between Buddha and
Sanjaya

Dravidar Kazhagam

Home-rule Movement

(B) Discourse imparted by the
Buddha to two Brahmins :
Bharadvaja and Vasistha

(C) Dialogue between Sariputta and
Assaji

(D) Discourse between Anuruddha
and Katyayana

68.

69.

70.

JUN - 15219/I11—D

ETATIUehT shIvTca FEETERIsN YR T.

. THEH FE B 2
(@) STH-HHMT To3dcd
(b) " Uy

(c) FfoSR Haze™

(d) BH-¥d dZdD

[ LN

Erelt feeiean gEiqa g s feren .
gt

(A) (a), (0, @)

(B) (), (e), (d)

(C) (a), (b), (c)

(D) (a), ), (d)

3 Y HIVAT TNid TSR 38 2
(A) T

(B) Tiftes

(C) forafyes

(D) g9

g wifemd ‘gH' WU ®E STy ?
(A) g8 3T §9 4 I dak

(B) YRGSt =A1for af3rss o1 S Sieronsi
g o ==

(C) TRIYT iU TEsh A=A Fog
(D) TTES M0 TR AR ==
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71. Which imperialist country had | 71. =IorH QHHAR] TS Tai{eeh @R
maximum number of colonies ? g ?
(A) Great Britain (A) e foeq
(B) France (B) s
(C) Portugal () T
D) Holland o .
(D) Hollan D)
72. Which leader of anti-colonial - a "

. 72. a9Eaare faUel Tsa@ia gHri
struggle served as President of - N NN
Zambia from 1964 to 1991 2 stlctedl snlUlcd] Adcai sl (e

WA 1964 d 1991 wd /& &l ?
(A) Kenneth Kaunda
A) FAY Hiel
(B) Harry Nkumbula =
(C) dJulius Nyerere ®) & 129
(D) Robert Mugabe (C) wferrs
73. Who among the following leaders (D) Ve 7T
was not associated with anti-colonial | 73 gurEdare ol J=as @reficris! QA
struggle ? I TR e'd ?
(A) Mahatma Gandhi (A) Here e
(B) Kenneth Kaunda (B) 3% Frer
(C) Harry Nkumbula . .
Y (C) & Tehem
(D) Daniel Lisulo .
D) EhHeta fogen
74. ldentify the non-democratic regimes i R -
from the following : 74. WlcAleTYehl —clenRllel Isidc 3HleoiE]
(A) Switzerland (A) fercts
(B) Australia (B) strefemn
(C) Cuba (C) g
(D) Denmark (D) ETHh
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75.

76.

77.

78.

In which of the following developing

countries transition from democracy

to consolidated democracy can be

witnessed ?

(A) Kenya

(B) India

(C) Uruguway

(D) Pakistan

Choose the incorrect statement :

(A) New social movements focus on
issues related to human rights.

(B) Gay rights movement can be

considered as new social

movement.

(C) New social movement emerged

in mid 1960 i.e. in a post-

industrial economy.

(D) Animal

cannot be called new social

rights movement
movement as it is not related
to human rights.

Which among the following is not

new social movements ?

(A) Women’s movement

(B) Ecology movement

(C) Gay rights movements

(D) Peasant movement

Which of the following political

systems has multiparty system ?

(A) USA

(B) Great Britain

(C) France

(D) Australia

75.

76.

77.

78.

JUN - 15219/I11—D

TCATCTUshT IV AT AIheRIh e

q3e AIRIMRIhe HhHU Foiel e

I

(A)

(B) ¥rd

(C) &

(D) IR

Tt Hehrd faum sfieen .

(A) -9 9IS Teedcd Al gaehi=
e’ Y ehigd hidm.

(B) wHfeT Fesddien d QTS
TBdes U gl

(C) =9 GHIfSTeh desdcsl 1960 HEAeR
EUSE Stenfire stefemaed=a
I ITACA ST

(D) UTUAT=AT IR TS AT d
TSR Fosdesdl TUdl UMK AATal
HTRUT T A GERIY e fed

AU HITdl TBdd T9 TDAD
& ?
(A) foa=t 9za

(B) ufigsdt wiesdes

(C) FHMTRI Fesdes

(D) VR FBTB

WUk ShITCT TSTeh 9 AL aIgyel
qgdl R ?

(A) ZTH.T

(B) U< foea

(C) By

(D) Ao
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79. Which is not the feature of | 79. Wil ST AR s;rcﬁa T
Sc}ll_lr_npteter’z elite H;Odel of T ShImer= STfYsHaK! e
participatory democracy ? 3R
(A) Common people do not have :"ﬁ\ ?. ..

capacity to make intelligent (A) HHI AR TSThRUTHe T g9
decisions in area of politics. fofa Soart amar 9.

(B) In democracy the actual power (B) TIhIMEHEN Toael T & Seuded
is in the hands of an elite TTSH= | 3TEa.
minority. o (C) THRIME ot Afys 3o e

©) Democracy 1s competition rerdier Tl 9.
between elites and masses. N . PR

(D) In democracy the role of citizens (D) AFIMEAE AT AT
duty begins and ends with HAUSgR oHKit fepen werelt fore
selecting — via ballot box — the L0 3 GE I ST T8 FIa.
individual or party. 80. @l I & ==l II It Sfeean amfor 4w

80. Match List I with List IT and select SR Thd gHA-TE e
the correct answer from the codes

: et 1

given below : .

List I (1) SR

() Patrimonialism @) WW

(ii) Majoritarianism (fi7) TREMErE THI TR R

(zit) Bureaucratic authoritarianism (iv) T §°hg-l~‘?ll‘é\l

(v) Military dictatorship e 11

List II s

(@) Argentina between 1966-1973 (@) 1966-1973 Welfer

(b) Traq during 1979 to 2003 (b) 1979 T 2003 WHIA Tk

(¢) Czar during 12th century (¢) 123 e o 1917 Fda=l SR
to 1917 (d) ST e

(d) Athenian democracy W‘W .

Codes : . .. .

(A) (i-0), (ii~d), (ii-a), (iv-b) (A (o), lii=d), i), (v=b)

B) (i-b), (ii-c), (ii-a), (iv-d) (B) @-b), (ii—c), (tit-a), (v-d)

(0) (i~a), (ii-b), (iii-c), (iv—d) (©) (-a), (i-b), (iii—c), (iv—d)

D) @-d), Gi-c), (Tii-b), ((v-a) D) @G-d), Gi-c), ([@ii-b), (lv-a)
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82.

83.

Committee was

appointed for advising the

Government about Non-Scheduled

Languages.

(A) Chandrashekhar Kambar
(B) Bhalachandra Nemade
(C) Sitakant Mahapatra

(D) Ashok Vajpayee

accord was an

attempt to contain terrorism in

Punjab.

(A) Rajiv — Longowal

(B) Indira Gandhi — Bhindranwale
(C) Nehru — Laldenga

(D) Vajpayee — Badal

Who led the All Assam Students’

Movement against migration ?
(A) Prafulla Mahanta
(B) Hiteshwar Saikia
(C) Gopinath Bardoloi

(D) Tarun Gogoi

81.

82.

83.

JUN - 15219/I11—D

TeeCed  EATA Fedl S UITdIa!

....................... (e WaY

THU[R  HIUAT

(A) TEITR Ha

(B) Y=g 9IS

(C) HrdTehid HETIN

(D) 2T90er TSI

CRUIAAIG AR SAUUIAIS! ST

(A) TSE — dArare
(B) sfeq mieht — fiygema
(C) T&& — TS

(D) IS — ded

A AW LEH HITA T~

[a

el

D

foielt weaedia Aqe Wefeusht
Ha ?

(A) Theel wEd

(B) fed=ax Aferan

(C) Ty =efers

(D) TEOT T
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84. Frequent use or misuse of Article | gy e O —
........................ has caused rift in N . .. .
fohell TRATIeS hg-Tsd FaHd A
Centre-State Relations.
LR e
(A) 352
(B) 360 (A) 352
(C) 356 (B) 360
(D) 32 (C) 356
85. Which of the following is not
(D) 32
correct ?
(A) Demolition of Babri Masjid | 85. T@IeIdeh Uil SISl SRR @ 2
— 1992
(A) =Tel HRfie IgEakd hI0 — 1992
(B) Announcement of LPG Policy
_ 1991 (B) @Sie o=t =eon — 1991
(C) RTI Act — 2005 (C) wifedt AfYHR HERT — 2005
(D) Assassination of Indira Gandhi (D) 3few e B — 1985
— 1985
. . 8 6' Imfaﬁ, .g}q_fa:n. .............................
86. Reorganisation of states was done on
the recommendations of ...................... A TR JHR 01 ST,
Commission. A) S
(A) Fazal Ali
(B) <X
(B) Dar
(C) Sarkaria (C) HTRIRE
(D) Mandal (D) wed
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87.

88.

89.

Which of the following is not a

Dravidian Political Party ?

(A)

Dravida Kazhagam

(B) Marumalarchi Dravida

Munnetra Kazhagam
(C) Telangana Rashtra Samiti

(D) All India Anna Dravida

Munnetra Kazhagam

Which of the following castes is not
mobilised recently for seeking

reservation ?
(A) Jats
(B) Patidars
(C) Marathas
(D) Malis

............................... is the new entrant

in the voting process in India.
(A) Ballot Paper

(B) EVMs

(C) VVPATSs

(D) Electoral Violence

87.

88.

89.

JUN - 15219/11—D
WreAlcush! v sfag 9er -mar ?
(A) sfae waed

~¢ [ =

(B) H&HAHE Sd€ o hoeoq

(C) deiToT e Gt

(D) 3TUunsHs, &

[a) o

AN N N
ellddletenl onllicdl Slald Al

°h S|

HTBA e SISt 9ee Atdd

A& ?

& IRar=n Fasus

T 9§ 3TR.
(A) HIuf>Fent

(B) S=ITH =3

(C) Hrede =

(D) FraeT® Herda fEam=m
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90.

91.

92.

93.

The leader of the opposition in the
16th Lok Sabha was :

(A) Kamal Nath

(B) Mallikarjun Kharge
(C) Rahul Gandhi

(D) Gulam Nabi Azad

Which of the following is not a Union
Territory ?

(A) Mizoram

(B) Lakshadweep

(C) Andaman & Nicobar Islands
(D) Daman & Diu

Article 1 of the Indian Constitution

describes India as the :

(A) Territories of the States
(B) Union of State

(C) Indian Federation

(D) Confederation

The Joint Session of the Parliament
is chaired by the :

(A) Speaker of Lok Sabha

(B) Vice-President of India

(C) Chairman of the Rajya Sabha
(D) Prime Minister of India

90.

91.

92.

93.

JUN - 15219/I1—D

1651 drhgddia fauen gem=a A4

g 2.

(A) FHATY

(B) wfcerehsd @
(C) Tga e
(D) T Tl AR

JEICTUh! SHIVMT M YT A&l ?
(A) freRH

(B) wiergad

(C) 3fgwM aAfor FeheR =

(D) <HU i <

IR ToFeeAd WRATS JEaTyH ol o
e -

(A) T= IIRW
(B) <A R
(C) YR WoRr=
(D) e

TS G SO STeAaTeent
......................... %. W,

(A) indae 3Teae
(B) YR SUUSU]
(C) TsIHu= |t
(D) WX qager
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94.

95.

96.

The President of India addresses
both the Houses of Parliament
assembled together :

(A) During the emergency session

of the Parliament

(B) Every Session

(C) First Session after each General
Election and First Session each
year

(D) Any Session

Supremacy of the Constitution

means :

(A) Constitution is above States

(B) Constitution is above
Government

(C) Constitution is above all

institutions, organisations and

citizens

(D) Constitution is above the

Parliament

Which of the following is the largest
Committee of the Parliament ?

(A) The Estimates Committee
(B) The Public Accounts Committee
(C) Committee on Public Sector

Enterprises

(D) The Committee on Petitions

94.

95.

96.

JUN - 15219/I11—D

TS O HHQ= SiFal GRS
RIdld ¢
(A) HESAT YRl STfEemETd

S eI EHEIN]

o o

(e enldd=dl ql%wl

(C) grdfaren
AfaeEE omfur etasie=n gfeea
S IBCENEIG

(D) IR AfYSeE

=l Hareadl WS ;

(A) ST TSITUe ST TR 378
(B) I & YTEATIET LA TMER 37

(C) T & 9d TEem, geedr oA
AMTCRTIET ai=aT TMER 378

(D) =T & HHIUET TCAT TR 3R
HESH Fella S At HoR ?

(A) 3Tt it

(B) Wrereren afidt

(C) grasfaer QATdTA ST

Tt
(D) anfeehifoeaes affrdt
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97. The Council of Ministers hold | 97 dfyHss F¥igdad FEIR TuEesd ?
office :
A) TS Hei srwda
(A) During the pleasure of the (A) T
President (B) WiehE STeAe=l WSl ST
(B) During the pleasure of the (C) U= ooten Ffyea sreEsiEe)
Speaker ’ )
(C) For a fixed term of five years (D) e ikl
(D) During the pleasure of Prime | 98. S¥TGHIAT SZATGEEATHAL ST
Minister GETTeTehTd Jeiel IR FHIee Hvard
98. The following word was added ATl ¢
to the Preamble by the 42nd s
Amendment : (&) Al
(A) Secular (B) TIhIE]
(B) Democratic (C) YSITH<TH
(C) Republic (D) T
(D) Sovereign
b0 Aot tg o . 99, 5 ST T
. According to the Constitution, the .
President of India works on the aid a IR =T '
and advice of : (A) SYTSZUAT
(A) The Vice-President (B) TaweT S Himes
(B) The Prime Minister and the -
Council of Ministers (C) HRA= Fared e
(C) The Supreme Court of India (D) YRA™ HEHEAR]
(D) The Attorney General of India | 100, sei= qeictieh! HIv HeH Tdiwd
100. Which Article of the Constitution e fdd=n S e ?
envisages a Supreme Court ?
(A) 128
(A) 128
(B) 124 (B) 124
(C) 132 (C) 132
(D) 136 (D) 136
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ROUGH WORK
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